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After completing this unit you should be able to: 

ا تكون أن يجب ،هذا الفصل  من الانتهاء بعد
ً
 :على قادر

 1-Define and give examples of variable costs and fixed costs. 

 .انثببتت ٔانتكبنٛف انًتغٛشة نهتكبنٛف أيثهت ٔإػطبء تذذٚذ -1 

2- Define and give examples of direct and indirect costs. 

 .انًببششة ٔغٛش انًببششة انتكبنٛف ػهٗ أيثهت ٔإػطبء تذذٚذ -2

3- Define and give examples of differential cost, opportunity costs and 

sunk cost. 

  .انغبسلت ٔانتكهفت انبذٚهت انفشصت ٔتكبنٛف انتفبظهٛت نهتكهفت أيثهت ٔإػطبء تذذٚذ -3

-Cost behavior is the way a cost will react to changes in the level of 

business activity.  

-As the activity level rises and falls ,a particular cost may rjse and fall as 

well- or it may remain constant.  

-To help make such distinctions, costs are often categorized as variable or 

fixed. 

 .انتجبس٘ انُشبغ يغتٕٖ فٙ انتغٛشاث يغ انتكهفت بٓب عتتفبػم انتٙ انطشٚمت ْٕ انتكهفت عهٕن -

 .ثببتت تظم لذ أٚعًب أٔ يؼُٛت تكهفت تُخفط لذ ، انُشبغ يغتٕٖ ٔاَخفبض استفبع يغ -

  .ثببتت أٔ يتغٛشة أَٓب ػهٗ انتكبنٛف تصُٛف ٚتى يب غبنببً ، انفشٔق ْزِ تذذٚذ فٙ نهًغبػذة -

 

 Is a cost that varies ,in total in direct proportion to changes in the level of 

activity.                                                                                                    

COST CLASSIFICATIONS 
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  .انُشبغ يغتٕٖ فٙ نهتغٛشاث انًببششة ببنُغبت ، إجًبلً  ، تختهف انتٙ انتكهفت ْٙ: انًتغٛشة انتكهفت

Variable costs also remain constant per unit at every level of activity- 

 انُشبغ يغتٕٚبث يٍ يغتٕٖ كم فٙ ٔدذة نكم ثببتت أٚعًب انًتغٛشة انتكبنٛف تظم

    Examples of variable costs include -انًتغٛشة انتكبنٛف أيثهت تتعًٍ

Direct material and direct labor for a manufacturer - 

 انًصُؼت نهششكت انًببششة ٔانؼًبنت انًببششة انًٕاد

 -Sales commissions for a merchandiser نهتبجش   انًبٛؼبث ػًٕلث

 Gasoline in airlines and trucking-ٔانشبدُبث انطٛشاٌ ششكبث فٙ انبُضٍٚ

companies . 

Example  

Dana Company manufactures radios that contain a $10 clock .Activity 

index is the number of radios produced .For each radio produced, the total 

cost of the clocks increases by $10.                                                              

                                                 

 If 2,000 radios are made, the total cost of the clocks is $20,000 (2,000 X 

$10) 

 ػذد ْٕ انُشبغ يؤشش ، دٔلس 11 عبػت ػهٗ تذتٕ٘ سادٕٚ أجٓضة بتصُٛغ Dana ششكت تمٕو

 11 بًمذاس نهغبػبث الإجًبنٛت انتكهفت تضٚذ ، إَتبجّ ٚتى سادٕٚ ٔنكم ، انًُتجت انشادٕٚ أجٓضة

 .دٔلساث

 دٔلس 21,111 ْٙ نهغبػبث الإجًبنٛت انتكهفت فئٌ ، لعهكٙ جٓبص 2111 تصُٛغ تى إرا 

 . (دٔلساث 11×  2111)

- A fixed cost is a cost that remains constant, in total, regardless of 

changes of changes in the level of activity .                                                 

                                       

 فةةٙ انتغٛٛةةشاث ػةةٍ انُظةةش بغةةط ، إجًةةبنٙ بشةةكم ، ثببتةةت تظةةم انتةةٙ انتكهفةةت ْةةٙ انثببتةةت انتكهفةةت 

 .  انُشبغ يغتٕٖ

Unlike variable costs, fixed costs are not affected by changes in activity - 
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 انُشبغ فٙ ببنتغٛٛشاث انثببتت انتكبنٛف تتأثش ل ، انًتغٛشة انتكبنٛفػهٗ ػكظ 

   Per unit cost varies inversely with activity- انُشبغ يغ ػكغٛبً انٕدذة تكهفت تختهف

-As volume increases, unit cost decline, and vice versa 

  صذٛخ ٔانؼكظ ، انٕدذة تكهفت اَخفبض ، انذجى صٚبدة يغ 

 : Examples include تشًم  الأيثهت 

 Property taxes-انًهكٛت    ظشائب

 - and Rent    Insurance   ٔالٚجبس انًببَٙ ػهٗ انتأيٍٛ

 - Depreciation on buildings and equipment اَذثبس انًببَٙ ٔانًؼذاث       

 Example 

 Damon Company leases its productive facilities for $10,000 per month  

 Total fixed costs of the facilities remain constant at all levels of activity 

$10,000 per month 

 شٓشٚبً دٔلس 11,111 يمببم الإَتبجٛت يشافمٓب انششكت تغتأجش  دايٌٕ : يثبل

 شٓشٚبً دٔلس 11,111 انُشبغ يغتٕٚبث جًٛغ ػهٗ ثببتبً نهًشافك انثببتت انتكبنٛف إجًبنٙ ٚظم

- On a per unit basis, the cost of rent decreases as activity increases and 

vice versa .                                                                                               

At 2,000 radios, the unit cost is $5 ($10,000 + 2,000 units)  

 At 10,000 radios, the unit cost is $1 ($10,000 + 10,000 units)  

 . صذٛخ ٔانؼكظ انُشبغ صٚبدة يغ الإٚجبس تكهفت تُخفط ، ٔدذة كم أعبط ػهٗ -

 (ٔدذة 2111+  دٔلس 11111) دٔلساث 5 انٕدذة تكهفت تبهغ ، سادٕٚ جٓبص 2111 فٙ

 (ٔدذة 11,111+  دٔلس 11,111) دٔلس 1 انٕدذة تكهفت تكٌٕ ، سادٕٚ جٓبص 11,111 فٙ 

-These costs are classified as either direct or indirect.                                  

                                 .يببششة غٛش أٔ يببششة إيب أَٓب ػهٗ انتكبنٛف ْزِ تصُٛف ٚتى -
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 Direct cost  التكاليف المباشرة

-A direct cost is a cost that can be easily and conveniently traced to the 

particular cost object under consideration.                                                   

                                             

- Direct material and direct labor are the main components of direct cost. 

-Examples of direct material include : Flour in the baking of bread; Steel 

used in making automobile.                                                                          

                                 

-Examples of direct labor: Bottlers at Coca-Cola; Typesetters at a 

newspaper                                                                                               

 . ٔٚغش بغٕٓنت تتبؼٓب ًٚكٍ تكهفت ْٙ انًببششة انتكهفت -

 .انًببششة نهتكهفت انشئٛغٛت انًكَٕبث ْٙ انًببششة ٔانؼًبنت انًببششة انًٕاد -

 فةةٙ انًغةةتخذو )انفةةٕلر( انصةةهب ؛ انخبةةض خبةةض فةةٙ انطذةةٍٛ: ٚهةةٙ يةةب انًببشةةشة انًةةٕاد أيثهةةت يةةٍ -

 .انغٛبساث صُبػت

                             صذٛفت فٙ تُعٛذ. كٕكبكٕل فٙ انًؼبئٌٕ: انًببششة انؼًبنت ػهٗ أيثهت -

 Indirect costالتكاليف الغير مباشرة                                                                    

* An indirect cost is a cost that cannot be easily and conveniently traced 

to the particular cost object under consideration    . 

 . ٔٚغش بغٕٓنت تتبؼٓب ًٚكٍ ل تكهفت ْٙ انًببششة غٛش انتكهفت* 

   Examples include *تتعًٍ اليثهت   

 Indirect materials-انًببششة غٛش انًٕاد

 - Indirect labor انًببششة غٛش اجٕس 

  Depreciation on factory buildings -انًصُغ يببَٙ اَذثبس

 Insurance, taxes, maintenance on factory facilities- 

 .انًصُغ يشافك ٔصٛبَت ٔانعشائب انتأيٍٛ

* Basically manufacturing overhead includes all manufacturing costs 

except direct materials and direct labor. 
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 لجةٕسٔا انًببشةشة انًةٕاد ببعةتثُبء انتصةُٛغ تكةبنٛف جًٛغ انًببششة غٛش انتصُٛغ َفمبث تشًم* 

  .انًببششة

  making decisionCost classification forانمشاس لتخبر انتكهفت تصُٛف

 Costs are an important feature of many نهؼذٚذ يٍ الػًبل  يًٓت عًت ْٙ انتكبنٛف

business. - 

 in making decisions, and sunk-                         .انكهفت انغبسلت انمشاساث اتخبر فٙ -

cost. 

  Differential cost and revenueانتفبظهٛت    ٔانؼبئذاث انتكهفت

 Decisions involve choosing between بٍٛ انبذائم الختٛبس انمشاساث تتعًٍ-

alternative - 

-In business decisions, each alternative will have costs and benefits that 

must be compared to the costs and benefits of the other available 

alternatives.                           - ٙٔفٕائذ تكبنٛف بذٚم نكم عٛكٌٕ ، انؼًم لشاساث ف 

 .انًتبدت الأخشٖ انبذائم ٔفٕائذ بتكبنٛف يمبسَتٓب ٚجب

-A difference in costs between any two alternative is known as a 

differential cost.        - انتفبظهٛت انتكهفت ببعى بذٚهٍٛ أ٘ بٍٛ انتكبنٛف فٙ انفشق ٚؼُشف. 

-A difference in revenues between any two alternative is known as 

differential revenue.        

                               .انتفبظهٛت الإٚشاداث ببعى بذٚهٍٛ أ٘ بٍٛ الإٚشاداث فٙ انفشق ٚؼُشف -

  Differential (Incremental) Costs(انًتضاٚذة ) انتفبظهٛت انتكبنٛف   

in total costs, which results from  differencesCosts that represent the 

selecting one alternative instead of other.                                                    

                                           

 يٍ بذلً  ٔادذ بذٚم اختٛبس ػٍ تُتج ٔانتٙ ، انتكبنٛف إجًبنٙ فٙ انفشٔق تًثم انتٙ انتكبنٛف

                                      .اٜخش

  Opportunity Costs  انفشصت تكبنٛف      

-the potential benefit that is given up when one alternative is selected 

over another . 
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                           .آخش ػهٗ بذٚم اختٛبس ػُذ ػُٓب انتخهٙ ٚتى انتٙ انًذتًهت انفبئذة -

opportunity When you decide to pursue a college degree, your : 1Example

                       year's potential earnings foregone.-would include the 4 cost

                                       

Example2: Ahmed is employed by company that pays him a salary of 

38000$ per year. He is thinking about Leaving the company, and 

returning to School. Since returning to school would require that he give 

Up his 38000$ salary. The forgone salary would be an opportunity cost of 

seeking further education                                    

 عتشةةًم انبذٚهةةت انفشصةةت تكهفةةت فةةئٌ ، جبيؼٛةةت شةةٓبدة ػهةةٗ انذصةةٕل يتببؼةةت تمةةشس ػُةةذيب: 1يثةةبل

 .ػُٓب انتخهٙ تى انتٙ الأسبغ نهغُٕاث انًذتًهت الأسببح

 انشةشكت تةشن فةٙ ٚفكةش. عةُٕٚبً دٔلسًا 30111 لةذسِ ساتبةًب نّ تذفغ ششكت فٙ أدًذ ٚؼًم: 2يثبل

. دٔلس 30111 انبةبنغ ساتبّ ػٍ ٚتخهٗ أٌ ٚتطهب انًذسعت إنٗ ػٕدتّ يُز. انًذسعت إنٗ ٔانؼٕدة

  .انتؼهٛى يٍ يضٚذ ػٍ نهبذث فشصت تكهفت انعبئغ انشاتب عٛكٌٕ

Opportunity costs are not usually recorded in the accounts of an 

organization, but they are costs must be explicitly considered in every 

decision a manager makes                    

 بشةكم الػتبةبس فةٙ أخزْب ٚجب ٔنكٍ ، انًؤعغت دغبببث فٙ انفشصت تكبنٛف تغجٛم ػبدةً  ٚتى ل

                                                                    .انًذٚش ٚتخزِ لشاس كم فٙ صشٚخ

  Sunk Costs      الغارقت التكاليف

- Cost that has already been incurred by past actions , Economic 

Implications: Not relevant to future decisions . 

 نٓب ػلالت ل: اللتصبدٚت اٜثبس.انغببمت الإجشاءاث خلال يٍ ببنفؼم تكبذْب تى انتٙ انتكهفت -

 .انًغتمبهٛت ببنمشاساث

Example: $500 spent to replace tires last year-not relevant in making 

selling decision in the future.    

 فٙ انبٛغ لشاس لتخبر يُبعب غٛش - انًبظٙ انؼبو الإغبساث لعتبذال دٔلس 511 إَفبق تى: يثبل

                  .انًغتمبم

 

 



Prepared by Sarah Maher Al-Athari 

                       UNITE 2             المحاسبة الادارية

7 
 

 

Questions 

 -What is meant by cost behavior?  

-How do fixed costs create difficulties in costing units of product?  

Only variable costs can be differential costs. Do you agree? Explain.  

Classification Exercise 

-Classify the following cost items : 

1-Depreciation on factory building . 

2-Depreciation on office equipment. 

3-Property tax on finished goods warehouse . 

4-Wages paid to forklift operator in finished goods warehouse .  

5-Wages paid to forklift operator in factory. 

6-Wages paid to welders when welding equipment is not working. 

7-Paper used in textbook production.  

8-Paper used in central office computer. 

9-Wages paid to assembly line workers. 

10-Maintenance cost for machines. 

. 


